
Affine 
transformation 

{
𝑥 = 𝐴1 + 𝐴2𝑢 + 𝐴3𝑣
𝑦 = 𝐵1 + 𝐵2𝑢 + 𝐵3𝑣

  

Affine 
conformal 

{
𝑥 = 𝐴 + 𝐶𝑢 − 𝐷𝑣
𝑦 = 𝐵 + 𝐷𝑢 + 𝐶𝑣

  

Affine conformal 
Scale=1 

{
𝑥 = 𝐴 + 𝐶𝑢 − 𝐷𝑣
𝑦 = 𝐵 + 𝐷𝑢 + 𝐶𝑣

 ,      √𝐶2 +𝐷2 = 1 

Projective 
transformation 

{
𝑥 =

𝐴𝑢 + 𝐵𝑣 + 𝐶

𝐺𝑢 + 𝐻𝑣 + 1

𝑦 =
𝐷𝑢 + 𝐸𝑣 + 𝐹

𝐺𝑢 + 𝐻𝑣 + 1

 

 

Polynomial,  
degree 2 {

𝑥 = 𝐴1 + 𝐴2𝑢 + 𝐴3𝑣 + 𝐴4𝑢
2 + 𝐴5𝑢𝑣 + 𝐴6𝑣

2

𝑥 = 𝐵1 + 𝐵2𝑢 + 𝐵3𝑣 + 𝐵4𝑢
2 + 𝐵5𝑢𝑣 + 𝐴6𝑣

2   

Polynomial,  
degree 3 

{
 
 

 
 𝑥 = 𝐴1 + 𝐴2𝑢 + 𝐴3𝑣 + 𝐴4𝑢

2 + 𝐴5𝑢𝑣 + 𝐴6𝑣
2

         𝐴7𝑢
3 + 𝐴8𝑢

2𝑣 + 𝐴9𝑢𝑣
2 + 𝐴10𝑣

2

𝑦 = 𝐵1 + 𝐵2𝑢 + 𝐵3𝑣 + 𝐵4𝑢
2 + 𝐵5𝑢𝑣 + 𝐵6𝑣

2

         𝐵7𝑢
3 +𝐵8𝑢

2𝑣 + 𝐵9𝑢𝑣
2 +𝐵𝑣2

  

Polynomial,  
degree 4 

{
  
 

  
 
𝑥 = 𝐴1 + 𝐴2𝑢 + 𝐴3𝑣 + 𝐴4𝑢

2 + 𝐴5𝑢𝑣 + 𝐴6𝑣
2

        𝐴7𝑢
3 + 𝐴8𝑢

2𝑣 + 𝐴9𝑢𝑣
2 + 𝐴10𝑣

2

        𝐴11𝑢
4 + 𝐴12𝑢

3𝑣 + 𝐴13𝑢
2𝑣2 + 𝐴14𝑢𝑣

3 + 𝐴15𝑣
4

𝑦 = 𝐵1 + 𝐵2𝑢 + 𝐵3𝑣 + 𝐵4𝑢
2 + 𝐵5𝑢𝑣 + 𝐵6𝑣

2

        𝐵7𝑢
3 + 𝐵8𝑢

2𝑣 + 𝐵9𝑢𝑣
2 + 𝐵10𝑣

2

        𝐵11𝑢
4 + 𝐵12𝑢

3𝑣 + 𝐵13𝑢
2𝑣2 + 𝐵14𝑢𝑣

3 + 𝐵15𝑣
4

  

Polynomial,  
degree 5 

{
 
 
 
 

 
 
 
 
𝑥 = 𝐴1 + 𝐴2𝑢 + 𝐴3𝑣 + 𝐴4𝑢

2 + 𝐴5𝑢𝑣 + 𝐴6𝑣
2

        𝐴7𝑢
3 + 𝐴8𝑢

2𝑣 + 𝐴9𝑢𝑣
2 + 𝐴10𝑣

2

        𝐴11𝑢
4 + 𝐴12𝑢

3𝑣 + 𝐴13𝑢
2𝑣2 + 𝐴14𝑢𝑣

3 + 𝐴15𝑣
4

        𝐴16𝑢
5 + 𝐴17𝑢

4𝑣 + 𝐴18𝑢
3𝑣2 + 𝐴19𝑢

2𝑣3 + 𝐴20𝑢𝑣
4 + 𝐴21𝑣

5

𝑦 = 𝐵1 + 𝐵2𝑢 + 𝐵3𝑣 + 𝐵4𝑢
2 + 𝐵5𝑢𝑣 + 𝐵6𝑣

2

        𝐵7𝑢
3 + 𝐵8𝑢

2𝑣 + 𝐵9𝑢𝑣
2 + 𝐵10𝑣

2

        𝐵11𝑢
4 + 𝐵12𝑢

3𝑣 + 𝐵13𝑢
2𝑣2 + 𝐵14𝑢𝑣

3 + 𝐵15𝑣
4

        𝐵16𝑢
5 + 𝐵17𝑢

4𝑣 + 𝐵18𝑢
3𝑣2 + 𝐵𝑢2𝑣3 + 𝐵20𝑢𝑣

4 + 𝐵21𝑣
5

   

 


